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811 412»369ﬁ7ﬁ1ﬁ266610ﬁ5ﬁ>02,c4,09
A knot dlagranﬂ ¢r Ci2 €1 G Cio Cs

Ideals for irreducible component#ﬂ)f Xpar

I = a4 b 2u, uM e —du, w2 1)
I = (—ut+u® =20 + b+ u, a, u® —u® +3u — 20+ 2u% —u —1)

* 2 irreducible components of dim¢ = 0, with total 48 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATSTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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I.
It = (u* +u*%+- .-+ b+ 2u, ut +u?'+- . ta—4u, v+ 20+ Fu+1)

(i) Arc colorings

-~+2u2+4u)

az =

a7 =
[

u? 4+ 4u” + 5u° — 3u
—u3T — w30 4 8u? + 2u

(
(
(
(
ag = (ul + 6u'? 4+ 13u'® + 10u® — 4uf — 8u* — u2>
(
(
(
(
(

—u? —4u” — 5u® + 3u
as = —u? —3u" —3uS +u

(ii) Obstruction class = —1

(iii) Cusp Shapes = —4u*! — 8u40 + ... +15u — 9



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
! u*? +13u* + -+ 28u+ 1
Co,Cy u Tt —8u+1
3,08 w2+ttt + o 41920+ 64
Cs, Cg, C10 w2 — M 4+ 550+ 17
C7,C11,C12 u? 4+ 2uM w1
€9 u F2utt 4o FBu+1




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
1 Y2439y . — 212y + 1
C2,Cq y42—13y41+--~—28y—|—1
€3, s y*? — 39y + ... — 90112y + 4096
Cs, C6, C10 y*? — 38y* + .. — 4011y + 289
€7,C11,C12 Yy 4+ 34yt o - 19y + 1
€ y*? 46y + - — 19y + 1




(vi) Complex Volumes and Cusp Shapes

Solutions to I} V—1(vol ++/=1CS) Cusp shape
u= 0.884997
a = —0.685840 —8.59934 —6.83080
b= —0.554744

u = —0.860411 4 0.0913401
a= 1.60817+ 0.834861
b= 0.281208 + 1.2482101

—1.28738 + 8.637761

—11.30852 — 5.505701

u = —0.860411 — 0.0913401
a= 1.60817 —0.834861
b= 0.281208 — 1.2482107

—1.28738 — 8.637761

—11.30852 + 5.505701

u = —0.819362 + 0.1023521
a = —1.76027 — 0.489601
b= —0.358516 — 0.8026871

0.15821 + 2.188661

—9.63326 — 1.255811

u = —0.819362 — 0.1023521
a = —1.76027 + 0.489601
b = —0.358516 + 0.8026871

0.15821 — 2.188661

—9.63326 + 1.255811

u = —0.818580

a= 1.24094 —17.20526 —12.4480
b= —0.564691

u = 0.813444 4 0.0360081

a = —0.240335 — 1.3640301
b= —0.236106 — 1.1453501

—5.56172 — 2.395621

—13.13795 4 3.146511

u = 0.813444 — 0.0360081
a = —0.240335 + 1.3640301
b= —0.236106 + 1.1453501

—5.56172 4 2.395621

—13.13795 — 3.146511

u = —0.360418 + 1.1448501
a= 0.461015 + 1.0523701
b= 0.396025 + 0.8748291

3.34850 + 2.085891

—6.37713 — 2.843131

u = —0.360418 — 1.1448501
a= 0.461015 — 1.0523701
b= 0.396025 — 0.8748291

3.34850 — 2.085891

—6.37713 + 2.843131




Solutions to I7*

V=1(vol + v=1CS)

Cusp shape

u=0.039780 + 1.2284801
a = —0.408011 + 0.4431451
b= 0.69289 + 2.439641

1.48060 — 0.966661

—6.26750 — 1.404911

u= 0.039780 — 1.2284801
a = —0.408011 — 0.4431451
b= 0.69289 — 2.439641

1.48060 + 0.966661

—6.26750 4 1.404911

u = —0.193377 + 1.2313301
a= 0.262816 + 0.4839141
b= 0.802069 + 0.5464781

2.73948 + 2.470381

—3.06420 — 3.924171

u = —0.193377 — 1.2313301

a= 0.262816 — 0.48391471

2.73948 — 2.470381

—3.06420 + 3.924171

b= 0.802069 — 0.5464781
u = —0.415470 + 1.1790201
a = —0.775903 — 0.9274761 2.05152 — 4.06193I | —8.19749 4+ 0.1
b= —0.095078 — 0.5882131
u = —0.415470 — 1.1790201
a = —0.775903 + 0.9274761 2.05152 4+ 4.06193I | —8.19749 4+ 0.1
b= —0.095078 + 0.5882131
u= 0.357741 + 1.2387501
a = —0.744213 — 0.4087231 | —1.85166 — 1.820907 | —9.63780 + 0.1
b= 0.418778 — 1.3221001
u= 0.357741 — 1.2387501
a = —0.744213 + 0.4087231 | —1.85166 + 1.820901 | —9.63780 + 0.1

b= 0.418778 + 1.3221001

u = —0.079247 + 1.2953101

a= 0.637223 — 0.2588771 4.02758 + 2.156991 0
b= 1.01766 — 1.346401

u = —0.079247 — 1.2953101

a= 0.637223 + 0.2588771 4.02758 — 2.156991 0

b= 1.01766 + 1.346401




Solutions to I V—=1(vol ++/—=1CS) Cusp shape
= —0.365234 4 1.2691907
= —0.284658 — 0.7184021 | —3.26541 + 4.257571 0
= —0.34989 — 2.355921
= —0.365234 — 1.2691907
= —0.284658 + 0.7184021 | —3.26541 — 4.257571 0

—0.34989 4 2.355921

0.517463 + 0.4172091
1.47848 — 1.779501
0.187293 — 1.1527801

4.73868 — 4.973581

—7.62188 + 6.305951

0.517463 — 0.4172091
1.47848 + 1.779501
0.187293 + 1.1527801

4.73868 + 4.973581

—7.62188 — 6.305951

0.443990 + 0.4942841
—1.67760 + 1.535891
—0.210344 + 0.8604901

5.02884 + 1.462461

—6.53686 + 0.895861

0.443990 — 0.4942841
—1.67760 — 1.535891
—0.210344 — 0.8604901

5.02884 — 1.462461

—6.53686 — 0.895861

0.418536 + 1.2779101
0.134196 — 0.4330611
0.636951 — 0.1038571

—4.63050 — 4.664451

0.418536 — 1.2779101
0.134196 + 0.4330611
0.636951 + 0.1038571

—4.63050 + 4.664451

0.361948 + 1.2953301
0.843712 + 0.1838401
0.34096 + 1.495061

—1.40855 — 6.626851

0.361948 — 1.2953301
0.843712 — 0.1838401
= 0.34096 — 1.495061

> Q@ €| & €|l & €| & €| Q& & & 8| & 8|l & 8|l & 8| & &g
Il

—1.40855 + 6.626851




Solutions to I V—1(vol + /—1CS) Cusp shape
u = —0.361210 + 1.3339907
a= 0.133728 4+ 1.1452501 4.66389 + 6.442641 0
b= 1.68733 + 2.676541
u = —0.361210 — 1.3339901
a= 0.133728 — 1.1452501 4.66389 — 6.442641 0
b= 1.68733 — 2.676541
u=0.108456 + 1.3801407
a 0.156921 — 1.1864001 10.88470 — 0.270941 0
b= 1.07791 — 4.117221
u = 0.108456 — 1.3801401
a= 0.156921 4 1.1864007 10.88470 + 0.270941 0
b= 1.07791 +4.117221
u=0.146369 + 1.3772007
a= 0.141022 + 1.1921907 10.39390 — 7.187761 0
b= —0.84503 + 4.227491
u= 0.146369 — 1.3772007
a= 0.141022 — 1.1921907 10.39390 + 7.187761 0
b= —0.84503 — 4.227491
u = —0.385158 + 1.3351607
a= 0.110632 — 1.1556201 3.18564 + 13.111007 0
b= —1.67195—2.976171
u = —0.385158 — 1.3351607
a= 0.110632 4 1.1556207 3.18564 — 13.111001 0
b= —1.67195+ 2.976171
u = —0.492418
a = —0.979682 —0.983238 —9.79060
b= —0.240678

u = —0.283222 + 0.2536371
a = —1.15749 + 1.432411
b= —0.099702 + 0.4427771

—0.614323 4 0.9195161

—9.08610 — 7.375371




Solutions to I V—1(vol + /—1CS) Cusp shape
u = —0.283222 — 0.2536371
a = —1.15749 — 1.432411 —0.614323 — 0.9195167 | —9.08610 + 7.375371
b= —0.099702 — 0.4427771
= 0.256764
a= 1.58568 —2.02811 1.75710
b= —0.984824




II. 1Y = (—u*+u® —2u? + b+ u, a, u® —u® +3u* —2u® +2u? —u —1)

(i) Arc colorings

(
(
(
(12 )
o= (1)
o
o=
(
(
(

u?+1
a2 = \2ut —uwP +4u? —u

—ud —2ud —u
—wtut -2+t —u—1

—u? -1
as = \ —ut —2u?
(ii) Obstruction class =1

(iii) Cusp Shapes = —5u* + 6u?® — 11u? + 6u — 17
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(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
C1,C2 (u—1)°
cs3,Cs u®
€4 (u+1)°
Cs5, Cg, C9 W= —3ut+ 20t 20 +u—1
7 ub +ud 4 3ut + 203 20 Fu—1
C10 w4 —3ut =20+ 2 —u—1
C11,C12 W —wP+3ut -2+ 20 —u—1
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(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1,C2,C4 (y_ 1)6
C3,C8 y6
C5,C6, C9 y6 _ 7y5 + 17y4 _ 16y3 + 6y2 —5y+1
C10
C7,C11,C12 Y% + 5y° + 9y + 4y — 6y% — 5y + 1
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(vi) Complex Volumes and Cusp Shapes

Solutions to IY vV—1(vol +/—1CS) Cusp shape
u= 0.873214
a= 0 —9.30502 —19.0600
b= 0.567375
u = —0.138835 + 1.2344501
0 1.31531 + 1.972411 | —8.22189 — 4.838491

b= —1.35607 4 0.921191

u = —0.138835 — 1.2344501
a= 0
b= -1.35607 — 0.921191

1.31531 — 1.972411

—8.22189 + 4.838491

u= 0.408802 + 1.2763801
0
b= —0.354716 — 0.8012051

—5.34051 — 4.592131

—15.2853 4 2.79941

uw=0.408802 — 1.2763801

0 —5.34051 + 4.592131 | —15.2853 — 2.79941
b= —0.354716 + 0.8012051
u = —0.413150
a= 0 —2.38379 —21.9250
b= 0.854195
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ITI. u-Polynomials

Crossings u-Polynomials at each crossing

€1 ((u—1)%)(u*? 4+ 13u! + - +28u + 1)
€2 (u—1)%(u*? = 7u* + - —8u+1)

c3, Cg uS(u'? 4w 4 -+ 192u + 64)
€1 (u+ D)%) (W = 7u* + -+ = 8u+1)

cs, Co (ub — u® — 3u® + 203 + 2u% + v — 1) (u® — 2u™ + .- — 55u + 17)
¢t (ub +u® +3u* + 203 + 20 +u— D +2u* + - Fu+1)
Co (b —u® = 3u + 203 + 2u% +u — 1) (u*? 4+ 2u* + -+ 5u+ 1)
10 (u® 4+ u® — 3u® — 2u® + 2u® —u — 1)(u*? — 2u* 4 - - — 55u + 17)

11, €12 (u® —u® 4 3u — 2u 4+ 2u® —u — 1)(u? + 20 4 Fu+ 1)
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IV. Riley Polynomials

Crossings Riley Polynomials at each crossing
“@ ((y = D)™ + 399" +--- =212y + 1)
c2, €4 (y = D) (y*™ —13y* +--- =28y + 1)
c3,C8 YO (y*? — 39y + - — 90112y + 4096)
6 5 4 3 2
¢s,C6, C10 (y° — Ty° + 17y* — 16y° + 6y~ — 5y + 1)
(y*? — 38y 4 - — 4011y + 289)
€7, €11, C12 (o +5y° +- =y + Dy +34y* + .. — 19y + 1)
G (v = Ty° + - =5y + 1)(y"* +46y™ + - — 19y + 1)
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